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A system of equation is two equations considered together. The solution of a system of equations is an
'ways check solution(s) algebraically.

Is (3.-2) a solution of the system of equations?
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Examples:
1) Is (-3,-6) a solution of the system of equations: —4x+y=6
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1) Solve one of the equations of the system in terms of x or in terms of 7 _
2) Substitute that into the other equation for the variable. \l

3) Solve the equation. ,)
4) Substitute that value into ane of the equations to find the thet )a:!
5) Check the solution (point) in BOTH equations.

2) Is(1,-2) a solutions of the system of equations: —Sx+y=-2
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1) Solve by the substitution method: (3 /- L‘ ’
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2) Solve by the substitution method:
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3) Solve by the substitution method:

3Ix—2y=+4

x=2
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